H & 0l & AHS B Ml A

SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
eg 1,601,570 1,227,351 374,219
228 FUHIHE A3t 662,576 31,926 300,650

INEESTE 588,025 288,025 300,000
HARX 24 504,89 204,89 300,000
401 A& HI L S CHY| 450,000 150,000 300,000
01 Al 450,000 150,000 300,000
OFAL SHZA 2 9% S 2|22 A
300,000, 0002 14! 300,000 0 300,000
IR ME S 3,240 31,59 650
ZOIRXIME B E 2 ey 28,900 28,250 650
405 XHHEISH) 1,500 850 650
01 XU 2EF|SH| 1,500 850 650
OFQIXAIME T2 2SHYSE 2 1,500 0 1,500
-oby|(22) 00,0002 1574 1,500 0 1,500
OFLURAMY BT 7Y 08! 0 850 1850
228 TAl ¥ FURINY 779,406 709,587 69,819
B FHHAXY 35,68 35,686 0
=2 U otd Rz 26,786 26,786 0
201 Y2 t| 7,276 276 7,000
01 Al 22| 7,000 0 7,000
OBlE MEXYS EAE LRZ
350,000 +202! 7,000 0 7,000
401 A& HI LS ohY| 0 7,000 17,000
01 Al&H 0 7,000 17,000
OBtd MEXY 08! 0 7,000 17,000
DIST AL A 743,720 673,901 69,819
SAHEAE KRR 122,845 53,026 69,819
101 Q124 37,605 9,876 27,729
VIR EEI=I=RS 37,605 9,876 27,729
OR&RY ol 76,9602 % 142 x34 2! 3,633 9,620 27,013
Ongys 36,632,9602*1.75/ 100 642 169 473
SINEE 36,632, 96021+0.9/100 330 87 243
201 Yete | 73,240 31,150 42,090
01 AlR221H| 58,800 26,250 2,550
OZANEER MR LRZB(E)
70,0002 #7CH#1202 58,800 26,250 32,550
2 22| 14,440 4,900 9,540
ORI& =Y 2l 400,0002!+7 CH#43] 1,200 4,000 7,200
ORF (&) 1,8002/%1,800 £ 3,240 900 2,340

S #yeyA 159,568 155,838 3,750

=23| 97,520 93,770 3,750

=3 (228) 97,520 93,770 3,750
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Al

A

A Zelare
HE: mo|MS TAl Y HAK N
o9l FRIZBAIRGHA (cre:xigl)
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
N 534,136 493,507 40,629
ZolAB SAl 2 FOHK HE 387,409 346,780 40,629
FOIZBAIR A 35,629 285,000 40,629
ARDEBIBO ALY 35,629 285,000 40,629
207 AL 10,800 12,000 A1,200
02 ®AHL] 0,800 2,000 A1,200
O=TRX Marzel 208 7
10,800, 00024141 10,800 12,000 A1,200
401 Al&EI L2 OHE] 314,829 273,000 41,829
01 A& 313,000 273,000 40,000
O=el 0182 A2+ BA
20,000,000 %141 20,000 0 20,000
OAHH3R! D182 2324 ZA
20,000,000 %14! 20,000 20,000
03 Al = 1,829 0 1,829
OARDELIMOIAIY F7 2}y
254,000, 00021+0.72% 1,829 0 1,829




Al A

S Dhzo
M IR0 CA Y FHON N
SH9l: FRIZBAIYHA (choy: @2
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
e 540,824 520,824 20,000
OIS SAl & FOX 410,390 390,390 20,000
ZOIZBAIHA 313,868 293,888 20,000
ARDELITA ALY 312,083 292,083 20,000
401 Al&HI L S CHY] 312,088 292,088 20,000
01 Al 310,000 290,000 20,000
OBII22] OFAR HMSI| BA}
30,000,000 %141 30,000 0 30,000
OstEel 42 &x1 I
20,000, 00021 #14! 20,000 0 20,000
Ol SE2THIM 0 30,000 230,000
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Al A

A s
M MEH FUEHH At
Rl Al ES2el EER=E)
A - B - SA(SA) - N - BES Ofl &F2H I8N Hws2
asH 650,840 583,480 62,360
asY FoEo MY Y3t 220,958 202,098 18,860
A& E2te] 93,281 84,201 9,080
BAMRX 2 91,721 82,641 9,080
201 fer= 3| 40,121 36,041 4,080
2 3522l 37,121 33,041 4,080
O222= 2 HA 18,476 14,3% 4,080
-2 1,000,000 * 122 12,000 7,920 4,080
401 AlEBIYL S CTHYI 27,600 22,600 5,000
01 AlZHI 27,600 22,600 5,000
OFA 2I8= HA 5,000,000& 5,000 0 5,000
FUXAME 2E 123,377 113,597 9,780
FQRXIME 22| 70,899 62,019 8,880
201 fer= 3| 27,599 21,119 6,480
2 3522l 26,19 19,719 6,480
0222z 2 HA 23,400 16,920 6,480
MRS (MO SIS
1,900,000 * 122 90% 20,520 14,040 6,480
401 AlEBIYL S CTHYI 15,000 22,000 27,000
01 AlZHI 15,000 22,000 27,000
O=F2UXXIHE SAY HIHSA
15,000,000 *14] 15,000 22,000 27,000
405 THHF S 28,300 18,900 9,400
01 Tt =S F=HI 28,300 18,900 9,400
OHlIC|2ZZ RH 2,400,000 *1CH 2,400 0 2,400
Ottol3 2,100,000 *2CH 4,200 0 4,200
O IENCIF 2,800,000 *1CH 2,800 0 2,800
asd SRS 29 X3 36,878 35,978 900
201 er23| 13,992 13,392 600
01 AtR2t2l] 1,800 1,200 600
OA2F 7 150,000& 12043 1,800 1,200 600
405 THHE S| 300 0 300
01 Tt =S F=H 300 0 300
OFaJ| 300,000& *1CH 300 0 300
a9 FHAXHE 371,282 336,282 35,000
FREH A A 337,160 302,160 35,000
A 2FCEHAAS 337,160 302, 160 35,000
401 AlEHIYL 2 THYI 337,160 302,160 35,000
01 Al&HI 335,000 300,000 35,000
O=R&el AFSHEHl SAt 35,000,000 35,000 0 35,000
a5 A2 E| 58,600 50,100 8,500
Jl=3H| 58,600 50,100 8,500
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Al A

SAM tH
M 50 FOIHOAH2AS}

Rl Al ES2el EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
5t 730,088 714,688 15,400
ot FRIHEoIM I A5t 336,542 337,042 2500

A& E2te] 3,577 9,077 260,500
BAMRX 2 35,457 95,957 260,500

201 fer= 3| 35,457 35,957 2500
01 At 2|l 2,869 3,369 2500
OAgAE HS)|s HE+=2
o0& 0 500 2500
401 AlEBIL S CHYI 60,000 260,000
01 Al£ZHI 60,000 260,000
O=&H AL &A% ) L &8A LX3AM
03 0 60,000 260,000
FUXAME 2E 295,385 235,385 60,000
ORI ME SR 2l 270,540 210,540 60,000
401 AlEHIYL S THYI 270,000 210,000 60,000
01 Al&HI 270,000 210,000 60,000
O=CITtXILIE cI2LE SAt
270,000,000 x 14! 270,000 210,000 60,000
=5t AP 2F I 66,616 50,716 15,900
JlI=2dsl 66,616 50,716 15,900
Jl2 3| (s=5ted) 66,616 50,716 15,900
405 AtatsE = 16,250 350 15,900
01 Tt =S F=H 16,250 350 15,900
OtltiZ=zxH 2¢
4,600,000 * 1K 4,600 0 4,600
Obedn 5 534 7
11,300,000 » 14 11,300 0 11,300




Al A

023E8E =Z 13 LERH 228 ~ Ad
2A: 3lgH
g 3lg FoEoy 23t
el AlgE2dl (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
3= 562,173 563,573 8,600
SlgH FQIHOMY A3t 131,948 124,948 7,000
A&=2cl 107,342 103,342 4,000
E=UNEONE-E 104,174 100,174 4,000
401 AlZHIL S CHY] 61,000 57,000 4,000
01 AlZHI 61,000 57,000 4,000
OFAL & HE A 4,000,000 14} 4,000 0 4,000
FOURRIME 2 21,806 18,806 3,000
FOTRNAE 2208 29 15,200 12,200 3,000
201 £er2aY| 12,200 9,200 3,000
03 A2 S HI 11,400 8,400 3,000
OFeUXXIHE Z2 W2 LA
60,0002 x2A| 2Hx952] 11,400 8,400 3,000
slgd =3 3| 52,150 50,550 1,600
(=34l 52,150 50,550 1,600
Jl=ZHl(algH) 52,150 50,550 1,600
406 XHAHR SHI 1,600 0 1,600
01 L =ZFH S 1,600 0 1,600
O=AM M 2 1,300,000 1CH 1,300 0 1,300
ORI +¢ 300,000 1CH 300 0 300
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A & 0l & AtES & Al

A

023E8E =Z 13 LERH 228 ~ Ad
FA UHSH
34 USH 43233
=l Jl=3H| (Gt H2)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
== 603,531 602,231 1,300
=0 #3233 52,660 51,360 1,300
=34l 52,660 51,360 1,300
Jl2ZHI(UH=H) 52,660 51,360 1,300
406 XHaHF St 1,300 0 1,300
01 AL =S H S 1,300 0 1,300
O2MAIEI] 2L 1,300,000 1,300 0 1,300




Al A

023E8E =Z 13 LERH 228 ~ Ad
FA AtelH
I AQH FoiEOIMY 23t
el AlgE2dl (Gt H2)
A -3 - GRA(3) - ARAY - BES Ofl &2y I3 ] ImE=r",
Lol 592,866 582,3% 10,470
QI FOIHOIME 25t 200,09 189,626 10,470
A&=2cl 149,314 141,334 7,980
E=UNEONE-E 148,714 140,734 7,980
201 LetEaY| 3b,734 3,734 3,000
R =23l 32,334 29,334 3,000
OHZH 6,000 3,000 3,000
-HAH 2] 1,5002 %4, 000 £ 6,000 3,000 3,000
401 AlZHIL 2 0HY] 112,980 108,000 4,980
01 Al 112,980 108,000 4,980
SO 2210 2|ZE £X
19,980,000 * 14| 19,980 15,000 4,980
FURRME =S 47,722 45,232 2,490
FRIXXIME TR 22 33,022 30,532 2,490
201 LetEaY| 16,462 13,972 2,490
01 Ab2teltl 240 0 240
OFAze|ESH 240,000 240 0 240
2 =23l 16,222 13,972 2,250
@k=a:] 6,750 4,500 2,250
-2 AXIdE A=l
1,5002+4,5002| & 6,750 4,500 2,250




